



St. Louis County, Minnesota

Date of Report: 12/16/2025 3:45:55 PM

General Details

 Parcel ID:
 415-0010-01995

 Document:
 Abstract - 01398808

Document Date: 11/25/2020

Legal Description Details

Plat Name: LAKEWOOD

Section Township Range Lot Block

8 51 13 - -

Description: WLY 660 FT OF SW1/4 OF NW1/4 EX NLY 270 FT & INC WLY 270 FT OF SLY 660 FT LYING ELY OF WLY 660

FT OF SW1/4 OF NW1/4

Taxpayer Details

Taxpayer Name PETERSON DAVID J & HEATHER F

and Address: 3267 DAHL RD

DULUTH MN 55804

Owner Details

Owner Name PETERSON DAVID J
Owner Name PETERSON HEATHER F

Payable 2025 Tax Summary

2025 - Net Tax \$4,375.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$4,404.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$2,202.00	2025 - 2nd Half Tax	\$2,202.00	2025 - 1st Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid	\$2,202.00	2025 - 2nd Half Tax Paid	\$2,202.00	2025 - 2nd Half Tax Due	\$0.00		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00		

Parcel Details

Property Address: 3267 DAHL RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: PETERSON, HEATHER F & DAVID J

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$105,600	\$278,200	\$383,800	\$0	\$0	-	
111	0 - Non Homestead	\$21,400	\$0	\$21,400	\$0	\$0	-	
	Total:	\$127,000	\$278,200	\$405,200	\$0	\$0	3932	





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:45:55 PM

Land Details

Deeded Acres: 21.14 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

ot Depth:	0.00							
ne dimensions shown are no	ot guaranteed to be s	urvey quality.	Additional lot in	nformation can be	e found at ions, please email PropertyT	av@etlouicocustums assu		
tps://apps.stiouiscountymin.	gov/webPlatsIIIame/I			Is (RESIDEN		ax@stiouiscountymin.gov.		
Improvement Type	Year Built	Main Flo		Fross Area Ft 2	Basement Finish	Style Code & Desc.		
HOUSE	1992	1,095 1,095		AVG Quality / 960 Ft ²	SE - SPLT ENTRY			
Segment	Story	Width	Length	Area	Foundat			
BAS	1	0	0	15	CANTILEVER			
BAS	1	0	0	20	CANTILEVER			
BAS	1	10	10	100	FOUNDATION			
BAS	1	24	40	960	BASEME	NT		
DK	1	6	10	60	PIERS AND FO	OOTINGS		
DK	1	12	6	72	PIERS AND FO	OOTINGS		
SP	1	12	14	168	PIERS AND FO	OOTINGS		
Bath Count	Bedroom Co	unt	Room Co	unt	Fireplace Count	HVAC		
1.75 BATHS	3 BEDROOM	MS	-		1	CENTRAL, ELECTRIC		
		Improvem	ent 2 Detai	ils (DETACHI	ED)			
Improvement Type	Year Built	Main Flo	or Ft ²	Bross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	1993	76	8	768	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	24	32	768	FLOATING	SLAB		
LT	1	8	24	192	POST ON GR	ROUND		
		Improven	nent 3 Deta	ils (STORAG	iE)			
Improvement Type	Year Built	Main Flo		Fross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1992	19		192	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	12	16	192	POST ON GR	ROUND		
		Improv	ement 4 De	etails (SHOP)				
Improvement Type	Year Built	Main Flo		Bross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1992	19		192	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	12	16	192	POST ON GROUND			
		Improv	ement 5 De	etails (POLE)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
POLE BUILDING	2000	93	6	936				
Segment	Story	Width	Length	Area	Foundation			
BAS	1	26	36	036	936 POST ON GROUND			





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:45:55 PM

		•	ement 6 Det	ails (SAU	NA)					
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross Area Ft ²		² Baser	Basement Finish Style Code &			de & Desc.	
SAUNA 2015			165 165							
Segment Story		•	Length Area			Founda		_		
BAS	5 1	11	15	165		POST ON GROUND				
Improvement 7 Details (COOP)										
Improvement Ty	pe Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & Desc.				
STORAGE BUILD			48			-		-		
Segme		•	Length Area			Foundation				
BAS	5 1	6	8	48		POST ON G	ROUN	D		
		Sales Reported	to the St. L	ouis Cou	nty Auditor					
s	ale Date		Purchase P	Price		CRV Number				
1	11/2020		\$375,000	0		240376				
1	10/1991		\$12,500)			81215			
Assessment History										
	Class		DL I		Taral	Def		ef	Not Too	
Year	Code (Legend)	Land EMV	Bldg EMV		Total EMV	Land EMV	BI:		Net Tax Capacity	
2024 Payable 2025	201	\$105,600	\$273,90	00	\$379,500	\$0	\$	0	-	
	111	\$21,400	\$0		\$21,400	\$0	\$	0	-	
	Total	\$127,000	\$273,90	00	\$400,900	\$0	\$	0	3,885.00	
	201	\$105,600	\$271,70	00	\$377,300	\$0	\$	0	-	
2023 Payable 2024	111	\$21,400	\$0		\$21,400	\$0	\$	0	-	
	Total	\$127,000	\$271,70	00	\$398,700	\$0	\$	0	3,954.00	
	201	\$100,800	\$271,70	00	\$372,500	\$0	\$	0	-	
2022 Payable 2023	111	\$20,400	\$0		\$20,400	\$0	\$	0	-	
2022 : 0,0010 2020	Total	\$121,200	\$271,70	00	\$392,900	\$0	\$	0	3,892.00	
	201	\$61,400	\$210,00	00	\$271,400	\$0	\$	0	-	
2021 Payable 2022	111	\$29,300	\$0		\$29,300	\$0	\$	0	-	
	Total	\$90,700	\$210,00	00	\$300,700	\$0	\$	0	2,879.00	
		7	 Гах Detail H	listorv						
			Total Tax	-						
		Special	Special			Taxable Buil	ding			
Tax Year	Tax	Assessments	essments Assessments Taxab		able Land MV	IMV MV		Total Taxable MV		
2024	\$4,369.00	\$25.00	\$4,394.0		\$126,081	\$269,336		\$395,417		
2023	\$4,573.00	\$25.00	\$4,598.0		\$120,195			\$389,185		
2022	\$3,753.00	\$25.00	\$3,778.0	U	\$87,801	\$200,085		\$2	287,886	





St. Louis County, Minnesota

Date of Report: 12/16/2025 3:45:55 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.